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Subject : GE_Q01-Q10_PGTHIN

Question ID:- 1

ENOUGH

Choose the word similar in meaning to the one given above :
(1)  Sufficient

(2) Quantity

(3) Whole

(4) Quite

Options:-

.1, OptionID :- 1,
. 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 1, Option ID : -1

Question ID:- 2

HOARD

Choose the word opposite in meaning to the one given above :
(1) Arrange

(2) Boost

(3) Dump

(4) Decline
Options:-

.1, Option ID :- 5,
o 2' DP“D" ID ™ 6'
. 3, Option ID :- 7,

- 4, Option ID :- 8,
Answer Given:- 3, Option ID : -7

Question ID:- 3



dell
Stamp


Identify the Part of Speech of the underlined word in the following sentence.
His health 1s no worse than before.

(1) Verb

(2) Adjective

(3) Adverb

(4) Conjunction

Options:-

.1, Option ID :- 9,

. 2, Option ID :- 10,
« 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 3, Option ID : -11

Question ID:- 4

He needs to do it .

Choose the option in which the above sentence has been changed into Passive Voice.
(1) He needs it to be done.

(2) He needed it to be done.

(3) It needs it to be done.

(4) Itis needed to be done by him.

Options:-

.1, Option ID :- 13,
. 2, Option ID :- 14,
. 3, Option ID :- 15,

- 4, Option ID :- 16,
Answer Given:- 2, Option ID : -14

Question ID:- 5

The teacher said to the students, “Why are you making a noise ?”

Choose the option in which the above sentence has been changed into Indirect Speech .
(1) The teacher asked why they were making a noise ?

2)  The teacher asked the students why they were making a noise.

(
(3) The teacher asked why were they making a noise.
(4) The teacher asked the students why are they making a noise.

Options:-

.1, Option ID :- 17,
. 2, Option ID :- 18,
. 3, Option ID :- 19,

- 4, Option ID :- 20,
Answer Given:- 2, Option ID : -18

Question ID:- 6




Arrange the following words/phrases into a meaningful and grammatically correct sentence.

(A) burst open

(B) in they

(C) the door

(D) and

(E) came

(1) (B) (D) (A) (E) (C)
(2 (©) (A) (D) (B) (E)
(3) (D) (B) (O) (E) (A)
(4) (A) (B) (©) (D) (E)
Options:-

.1, Option ID :- 21,
« 2, Option ID :- 22,
. 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 4, Option ID : -24

Question ID:- 7

[dentify the part in the following sentence that has an ERROR in it :

[ see / things / different / now.
(@  (b) (c) (d)

(1) (a)
(2) (b)
(3) (o)
(4) (d)
Options:-

.1, Option ID :- 25,
. 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 1, Option ID : -25

Question ID:- 8

[dentify the tense in which the following sentence is written.
He has been speaking in a loud voice

(1) Simple Present

(2) Present Perfect

(3) Present Perfect Continuous

(4) Present Continuous

Options:-

.1, Option ID :- 29,
. 2, Option ID :- 30,
. 3, Option ID :- 31,




. 4, Option ID :- 32,
Answer Given:- 3, Option ID : -31

Question ID:- 9

Fill n the blank in the sentence given below by choosing out of the options that follow.
He bids fair to set his enemy

(1) out
(2) down
(3) off
(4) away
Options:-

.1, Option ID :- 33,
. 2, Option ID :- 34,
. 3, Option ID :- 35,

. 4, Option ID :- 36,
Answer Given:- 4, Option ID : -36

Question ID:- 10

Fill in the blank in the sentence given below by choosing out of the options that follow.

The clever trader worked his customers :
(1) into

(2) wup

(3) wupon

(4) out

Options:-

.1, Option ID :- 37,
. 2, Option ID :- 38,
. 3, Option ID :- 39,

- 4, Option ID :- 40,
Answer Given:- 2, Option ID : -38

Subject : GH_Q11-Q20_PGTHIN

Question ID:- 11




el fou T =N it gt waitieh Stud faehed st wIEe Siteg -

7ifg g1 FAfaer Sae foard & ga a7 =1 Fao 8 =8 on 9| afe e 99 a3 ol & @ Teee
@l 3TEd @1, 1 89 3794 O i a9 § 78l B Fehit | 3fg g9 e faare ° yen & el €, o9l o ey §
S o foru orrasas €9 9 So® € 21991 g9 & <Y WieH § S0 aoR ¢ ol 89 o799 §9 I 99 § e
T bl |
a1 e 79 B 99 H W GRd1 8 ?
(1) S0 o o) | S 1 S @l ¢ |
(2) S gHY 1 el 9g=H ¥ STFfed g g
(3) i fRefe faamRi 9 o= Iadl 2|
(4) SN FAfaeR SfieA | o= 1 Y4 T8 Bl |

Options:-

.1, Option ID :- 41,
« 2, Option ID :- 42,
. 3, Option ID :- 43,

« 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12

et fou T TRy Rt gt Waitieh Sfud faehed st w9 Sifag -

IfE &1 Afdaer Site foard @1 g9 |7 1 =0 § 781 o 9oh1 | afs 6 SH g3 g9 %l 8l 9gar
%1 2TEd &, A B9 3794 A 6l 99 H 721 B Fehil | Afg g Frede faarg # ued % o1l €, gud & g9y
S o U STATEvas €9 € Soq® © 191 g9 o ¥ @ieH H 370 acal @ dl 89 3794 |9 &l 99 § 8
L Heh |

TR % STHHR GO ] STH-98iehL ot Ygdl :
(1) & &, 37q: 3if=d 7l ©

2) WA HI Y H FEE

3) e, w@fae e

(
(
(4) orfad €, o7a: =

Options:-

.1, Option ID :- 45,
. 2, Option ID :- 46,
. 3, Option ID :- 47,

. 4, Option ID :- 48,
Answer Given:- 3, Option ID : -47

Question ID:- 13




e feu U =iy i Ut waitien sfua fasea @t wEe whitea -

afe g9 arfae Sita foard at g9 59 &1 fao 5 78 o weht | afe &6 ST g3t gl &1 81 Jg e
1 3MEd B, 9 B9 3799 99 99 H TEl L kit | Afe gy frdw faae d e F et € o9l & day H
S o T STTaeaes €Y | IaH € S99 T 6 o G H ST e € o 89 9 §H 6l 99§ A
T Hehl |
... T B 99 H AE T Gehil || G o Eifehd VIeg o1 HTT vIeg, S et H ygEd gIN ©
1

(1) HAEYEH
(2) T

(3) fmed=
(4) faarg

i~
—

Options:-

.1, Option ID :- 49,
« 2, Option ID :- 50,
. 3, Option ID :- 51,

« 4, Option ID :- 52,
Answer Given:- 2, Option ID : -50

Question ID:- 14

e fou o TRIYT S ugent waitien sfaa faee ot =em wifee -

Ifg g9 e Sfam foard @ &9 97 =l a5 &0 o e | afg 86 ST =@ g8l &l 81 989
%1 2TEd 8, T B9 3194 A ol 99 ° T2 B Gehil | Afe g e faare § uea % o1 €, ond % gy H
S o ot ST1e99s 9 § 3% 2 31991 THU & <Y @IS H 3= qcdl 8 o 89 A9 §9 hl 991 § &
FL G |

9 &l g § 13 & fou

(1) T | Hueh T T &
2) I % <rYi =l WIS 8
3)  eFfad ST=RuT BEA @

4) T 9 gay dred 2

(
(
(

Options:-

.1, Option ID :- 53,
. 2, Option ID :- 54,
. 3, Option ID :- 55,

. 4, Option ID :- 56,
Answer Given:- 3, Option ID : -55

Question ID:- 15




e feu U =iy i Ut waitien sfua fasea @t wEe whitea -

afe &R Afae St faard @ g9 77 &1 30 | 780 o wehl | afe g S g3t gHd i 71 9gaH
&1 2Ted B, T 9 94 T4 I 99 § 7el R Gohil | Afg a9 e faarg | e & et €, gl o ey o
A & foru erravas ©9 9 0% € 31991 g9 & S @i H 37 aeql 8 df 89 2799 B i 99§ e
T bl |
afg ouf St 9 FES Bl 9 ©

(1) Hhdards e

(2) fawrnfe sy are

(3)  SATHIF AT

(4) TaureEr=es 9
Options:-

.1, Option ID :- 57,
« 2, Option ID :- 58,
. 3, Option ID :- 59,

. 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 16

‘g9 F qIEETH v §
(1) A, 30

(2) YTHM, 37EH

(3) SRUY, &S

(4) HR, I
Options:-

.1, Option ID :- 61,
. 2, Option ID :- 62,
. 3, Option ID :- 63,

. 4, Option ID :- 64,
Answer Given:- 1, Option ID : -61

Question ID:- 17

T V&2 ] IR0 &l © 7

(1) ®=d
(2) Tegd
(3) HA
(4) S
Options:-

.1, Option ID :- 65,
. 2, Option ID :- 66,




. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 4, Option ID : -68

Question ID:- 18

qHe g fy= d9fa 2
(1) T=rds

(2) A

(3) F=EN

(4) fIoFa
Options:-

.1, Option ID :- 69,
. 2, Option ID :- 70,
. 3, Option ID :- 71,

. 4, Option ID :- 72,
Answer Given:- 3, Option ID : -71

Question ID:- 19

37T 9 G ] 3SR el © 7

(1) FUEHE
(2) THITH
(3) W92
(4) gfafe
Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
. 3, Option ID :- 75,

. 4, Option ID :- 76,
Answer Given:- 2, Option ID : -74

Question ID:- 20

‘ST 4 |R g Yen fean |’ g & w@ifhd 9 H R ©

(1)
(2)
(3) A
(4) HYSH
Options:-

.1, Option ID :- 77,
. 2, Option ID :- 78,
. 3, Option ID :- 79,
. 4, Option ID :- 80,




Answer Given:- 2, Option ID : -78

Subject : GA_Q21-Q30_PGTHIN
Question ID:- 21

When a Proclamation of Emergency is in operation in India, the President by an order can suspend
the right to move courts for the enforcement of which of the following rights ?

(1) Right to be protected from punishment for the same offence more than once

(2) Right of an accussed to be protected from being compelled to be a witness against himself/
herself

(3) Right against exploitation in relation to traffic in human beings
(4) Right not to be deprived of personal liberty except according to procedure established by law

W& YRd H SAITAeRTel o1 SEEYI @1 &t € o1 Tgufa U ey & i fefafaa sifusri § 9 feas
Yo & fefu =rarerd §iH & SAfusr = fHefad & Hehd 8§ 2

(1) ek & 3790y o forw weh | sifyes ar <fea fopn ST | Ham &1 sfuan

(2) Tordl STRIGT Rl @4 % 9fd U TE1E 99 8q ared foRU S | He o S
(3) HFE AR % Ha9 H 3N & fawg AfuEr

(4) Tafa gro wenfug s & faam SAifaas @ 9 dfea fae s m &1 sfusr
Options:-

.1, Option ID :- 81,
. 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 4, Option ID : -84

Question ID:- 22

What is the initiative launched by the Ministry of Health and Family Welfare of India which enables
patient to doctor tele-consultation called ?

(1) Jeevan Rakshak

(2) E-Sanjeevani

(3) Ayushman Bharat Tele Kendra
(4)

I

4) Arogya Vartalap

YA o TR AR URER Hedol HAad gR JLis] &l St ¥ 2e-TH SUeed U aq U8 &l 718 Jad
FT AT ?

(1) i @&

(2) E-HsiraHA!
(3) HAHE YA el s
(4) SR FEie™

Options:-




.1, Option ID :- 85,
. 2, Option ID :- 86,
. 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 2, Option ID : -86

Question ID:- 23

Which of the following figures faced an impeachment trial in the British Parliament ?

(1) Bal Gangadhar Tilak
(2) Warren Hastings

(3) Lord Mountbatton
(4) M.K. Gandhi

fafafaa 5 9 feea fafew 99 ° weif==m fa=mor =1 9 fan on 2

(1) =ret TR faeres
(2) dne efE

(3) diE HSZeeA
(4) UHh. W
Options:-

.1, Option ID :- 89,
. 2, Option ID :- 90,
. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 4, Option ID : -92

Question ID:- 24

Which of the following mineral deposits are formed by the decomposition of rocks rich in aluminium
silicates ?

(1) Manganese deposits

(2) Bauxite deposits
(3) Copper deposits
(4) Limestone deposits

Tty fafeshe 9 Ry =2eFl & uaed | & 9 |@fe Yer &1 fmio g g 2

(1) HHS 48R
(2) HIEE YER
(3) didl H8R

(4) FAIRR SR

Options:-
.1, Option ID :- 93,




. 2, Option ID :- 94,
. 3, Option ID :- 95,

« 4, Option ID :- 96,
Answer Given:- 4, Option ID : -96

Question ID:- 25

The Treaty of Maastricht resulted in the establishment of which of the following ?
(1) The World Bank (WB)

==

)

(2) The European Union (EU)
(3) The World Trade Organization (WTO)
(4) The Association of South East Asian Nation (ASEAN)

= 9y & aftomrasy fagent e g8 9 ?
(1) fava 9= (=g i)
(2) 7 HY (% 9)
(
(

3) fova =amR Hred (=g 3 &)
4) fEFE (TUH E TUA)

Options:-

.1, Option ID :- 97,
« 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 3, Option ID : -99

Question ID:- 26

Which microorganism causes Malaria ?
(1) Bacteria

()

(2) Virus
(3) Protozoa
(4) Genus Morbillivirus

o gewsiia | HeIf e g1 © 2
(1) M

(2) ey

(3) HIErSHsT

(4) SIFY HRfae aEed

Options:-

.1, Option ID :- 101,
. 2, Option ID :- 102,
. 3, Option ID :- 103,




. 4, Option ID :- 104,
Answer Given:- 3, Option ID : -103

Question ID:- 27

Where is the sound produced in humans ?
(1) Windpipe

)

(2) Vocal cords
(3) Larynx
(4) Abdomen

TN

Y H a4 Fal 309 2l ¢ 7
(1) vaEel

(2) A

(3) 3

(4) 3K
Options:-

.1, Option ID :- 105,
. 2, Option ID :- 106,
. 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 2, Option ID : -106

Question ID:- 28

Who among the following players won the FIFA World Cup 2022 ‘Golden Glove” award ?
(1) Emiliano Martinez

2

(2) Yassine Bounou
(3) Dominik Livakovic
(4)

4) Jordon Pickford

TIF ges Y 2022 H ‘Teed Tod’ o R feg faargl 3 S 2

(1) uHiferaHE geHs
(2) AET I=ATS

(3) sifafrs feamnifas
(4) SiEd fopwe
Options:-

.1, Option ID :- 109,
. 2, Option ID :- 110,
. 3, Option ID :- 111,
. 4, Option ID :- 112,




Answer Given:- 3, OptionID : -111

Question ID:- 29

Who among the following authors won the ‘Sahitya Akademi Yuva Puraskar 2022" in Urdu
language ?

(1) Imran Akif Khan
2) Magsood Aafaque
3) Saliha Siddiqui

(
(
(4) Gh, Nabi Kumar

I 991§ ‘Hifecd reeH Ja1 YR, 2022 Y oiEe i fue ?
(1) SHUA 1% @F

(2) Hehyg 3ATHhleh
(3) wferer fagfee
(4) 7. &t FHR

Options:-

.1, Option ID :- 113,
. 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 2, OptionID : -114

Question ID:- 30

Which of the following has the least memory capacity ?
(1) Disc Memory

(2) CD ROM
(3) Main Memory
(4) Cache Memory

f=fafed 5 9 s 99 a9da 999 9 § 7

(1) fe=r qui

(2) H U

(3) HF HER

(4) HY HER
Options:-

.1, Option ID :- 117,
. 2, Option ID :- 118,
. 3, Option ID :- 119,
. 4, Option ID :- 120,




Answer Given:- 4, Option ID : -120

Subject : RA _Q31-Q35_PGTHIN

Question ID:- 31

Choose the correct alternatives that will continue the same pattern and replace the question mark
(?), in the following number series.

99, 33,36, 12, 15, 5, 1
)

1
-
3)

R O = N

(
(
(
(4)

Y 92 faseq o1 =74 i S Fefafad e gaen J 36t Y24 &1 Sl W@ 3R 99 9% (2) &1 2=&H o
99, 39,36, 12, 195, 9, ¢

(1)
2)
3)
4)

e O = N

(
(
(

Options:-

.1, Option ID :- 121,
. 2, Option ID :- 122,
. 3, Option ID :- 123,

« 4, Option ID :- 124,
Answer Given:- 2, Option ID : -122

Question ID:- 32

A, B,C, D, E, F and G are standing in a row facing towards East. ‘E’ is at an extreme end and has
‘G’ as his neighbour. ‘B’ is to the left of ‘D" and “F’ is to the right of ‘D". ‘D)’ is at the fourth position
from the South end. There is only one person between ‘D" and “A’". ‘C’ is to the right of ‘A’. Who
is standing to the right of G ?

(1)

o
g ™

(2)
(3)
(4)

A, B,C,D,E, F 3R G Yd &l 3R He &l UH Ufad § @S €1 ‘E' U 3ifaw 3R W g 2R ‘G’ 39H voidt
g1 B, D' hEE AR T F, ‘D’ SR AR T | D S0 SR H 91Y ®IH W D a1 A’ F 9 e
T A 1 ‘CL A’ F SR AR ‘G F AT SR B TS § 2

(1) B
2) C
3) D
4) E

Options:-




.1, Option ID :- 125,
. 2, Option ID :- 126,
. 3, Option ID :- 127,

. 4, Option ID :- 128,
Answer Given:- 1, Option ID : -125

Question ID:- 33

Aman is facing south - east and move 5 m forward, turns right and move 5 m and again turns
right and move 5 m. Which direction is he from his initial position ?

(1) North
(2) North - East
(3) South - West
(4) South

39 %1 Hg SQU-Jd i 3T & AR 92 5 1. 17 aedl &, I S gHaH 5 Hl. 30 gedl & a9 R e 3R
T 5 Hl, 3 9edl © 1 39 Fg v IRfve frafa 9 g fen § 22

(1) 3

(2) IW-T

(3) =fEgu-uyfy=m

(4) =fEgo
Options:-

.1, Option ID :- 129,
. 2, Option ID :- 130,
. 3, Option ID :- 131,

. 4, Option ID :- 132,
Answer Given:- 3, Option ID : -131

Question ID:- 34

A question is given below followed by two statements numbered (I) and (II) each containing some
information. Decide which of the statements is/are sufficient to answer the question

Q: Who is tallest among Monika, Sharad, Nitin and Ratna ?
(I) Ratna is taller than Monika but shorter than Nitin
(II) Sharad is shorter than Monika

(1) The statement (I) alone is sufficient to answer the question while the statement (II) alone is
not sufficient to answer

(2) The statement (II) alone is sufficient to answer the question while the statement (I) alone is
not sufficient to answer

(3) Both statements (I) and (II) together are necessary to answer the question
(4) Both statements (I) and (II) together are not sufficient to answer the question




= we weA fean wn § fowe ar e (1) 3R (1) fou e € o9 v § o sei 61 T ') a3 foi
FHifew foF 1 J/8 99 999 FH1 IR o4 & foau g 272 |

999 : Hiftent, I9E, Ffda SR T 8 | e dar pH 2 2

(1) Tom, Wife | det @ fog ffaa @ 311 8

(I1) 9E, Hif4a | B2

(1) 31ehet YA (I) B 99 &1 I o1 o TaIw T4 g Safeh 3hel &9 (11) W99 1 30 & o g 94T
ERES

(2) @l YA (I1) B 999 &1 I a1 & forw g2 8 Safeh stehet A (1) 999 1 3T o4 o forg 9t
TR 2

(3)  FUH (1) 3R FeA (II), SF1 91 THeret 999 1 I &7 & Ty, 37eva® 2 |

(4) A (1) 3R FA (10), A1 9y et off 999 =1 3 &4 & fae vara =8 2

Options:-

.1, Option ID :- 133,
. 2, Option ID :- 134,
. 3, Option ID :- 135,

. 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35

The following figure consists of three intersecting circles, each representing a group of persons
who are Honest, Intelligent and Professionals

Intelligent Honest

Professionals

Which number represents the persons who are Intelligent and Professionals but not honest ?
(1) 6

(2) 8
(3) 11
(4) 13




frafafad o= o F wfasd ga fou mu € fad wees damer, sfgam 3ik Wer =afaqdi & 9qe 1 i
|

ENET
%A il HeA 37 SAfFAl =l Tl & 3 GG R GaR di § fohd SHAGR 781 & ?
(1) 6
(2) 8
(3) 11
(4 13
Options:-

.1, Option ID :- 137,
. 2, Option ID :- 138,
. 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 4, Option ID : -140

Subject : CL_Q36-Q40_PGTHIN
Question ID:- 36

Which of the following is not a popular example of web based search engines ?
(1) Bing

(2) Edge
(3) Yahoo
(4) Google

fr=fafad 9§ 9 S-91 99 19| 99§99 &1 U clehiad Sl 78] & 2

(1) fem
(2 T
(3) g
(4) e
Options:-

.1, Option ID :- 141,
. 2, Option ID :- 142,
. 3, Option ID :- 143,

. 4, Option ID :- 144,
Answer Given:- 1, Option ID : -141




Question ID:- 37

Rich text format refers to :
(1) Unformatted text

)

(2) Formatted text
(3) Hyper text
(4) Text with hypermedia

= 2= w1 19

(1) AFEHIEE 2

(2) WHIE THR

(3) BRW THL

(4) TREWHITESAT 9 TR
Options:-

.1, Option ID :- 145,
. 2, Option ID :- 146,
. 3, Option ID :- 147,

. 4, Option ID :- 148,
Answer Given:- 4, Option ID : -148

Question ID:- 38

Study the list of feature’s given below.

() Page layout

(i) Zoom option

(iii) Basic formulas and calculation

(iv) Adding images

Which of the above features are available in both MS-Word and MS-Excel ?
(1) (i), (i), (iii) and (iv)

(2) (1) and (i1) only

(3) only (i), (ii) and (iv)

(4) only (i) and (iv)




9 &1 T2 BER-gET 1 IEE Hifeu |

(i) 95 AA-3732

(i) SH A

(iii) of9e FHAS TS Fepavid

(iv) ufen safss

I9Fd H § -4 el UH UH-9€ 3N UH U9 Ua9d g1 4 eid © 7

(1) (i), (ii), (iii) #IR (iv)
(2) FAA (i) IR (i)
(3) A (i), (i) 3R (iv)
(4) I (ii) 3T (iv)
Options:-

.1, Option ID :- 149,
. 2, Option ID :- 150,
. 3, Option ID :- 151,

- 4, Option ID :- 152,
Answer Given:- 1, Option ID : -149

Question ID:- 39

Which of the following is the best and correct definition of an operating system ?
(1) A program that manages all the other application programs in a computer
(2) A Software that helps configure, optimize and analyze a computer

(3) A program that is designed to carry out a specific task other than operation of the computer
(

4) A set of instructions, data or programs used to execute specific tasks.

frefafad 9 § sitafén fowen & gd9w 3R wd aftam #H-6 8 7

(1) U G S e | 377 Tt TEiehyr™ Gl &1 399 il ¢ |

(2) U AieadT S fohdl Hr2ey il 9uEy aqH, NeAEs 37 R faver w 3 § e & &
(3) W URITH ST HFY % AYWHE & el 31 fafore #m e & fau fesiea fHan mn 2

(4) U Tafore srl 31 B WHE SERIH, ST SYdl YIUTH 1 =94 |

Options:-

.1, Option ID :- 153,
. 2, Option ID :- 154,
. 3, Option ID :- 155,

. 4, Option ID :- 156,
Answer Given:- 2, Option ID : -154

Question ID:- 40




Which of the following devices convert human-understandable data and programs into a form
that computer can process ?

(1) Output devices

(2) Input devices
(3) Storage devices
( .

4) Memory devices

fFrfafad 4 9 sE-4 feary 9ma 99=Era 311 SR 9™ $1 39 9 1 ardl ¢ 5w 96y &1
e ?

(1) #AEeYe feasy
(2) ¥ fearw
(3) RS feary
(4) #HHE fearyg
Options:-

.1, Option ID :- 157,
. 2, Option ID :- 158,
. 3, Option ID :- 159,

- 4, Option ID :- 160,
Answer Given:- 2, Option ID : -158

Subject : UL_Q41-Q55_PGTHIN

Question ID:- 41

What is cognitive maturation ?
(1) Ability to feel

(2) Ability to think

(3) Ability to act

(4) Ability to smile

R

"G qidaadr’ & 7
(1) 3AFYE & B I
(2) Hr=H S AR

(3) @@ A I Al
(4) TEHTH I FrEd

4

Options:-

.1, Option ID :- 161,
. 2, Option ID :- 162,
. 3, Option ID :- 163,

. 4, Option ID :- 164,
Answer Given:- 1, Option ID : -161




Question ID:- 42

‘"Home-community relation” can be established by :
1) Teachers
Parents

(

(2)

(3) Management
(4) Students

(1) AR
(2) - o
(3) wAYH
(4) forzme
Options:-

.1, Option ID :- 165,
. 2, Option ID :- 166,
. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 2, Option ID : -166

Question ID:- 43

The deviation of moral behaviour of the child related to :
(1) Affective domain

(2) Cognitive domain
(3) Psychomotor domain
(4) Emotional domain

A7 o Aldeh Hder H fagaq (fauys) F=ifeg d 9 foad gefug 22

(1) Y& &3
(2) HIATHF &4
(3) HANIdH &
(4) |idfTE &
Options:-

.1, Option ID :- 169,
. 2, Option ID :- 170,
. 3, Option ID :- 171,

- 4, Option ID :- 172,
Answer Given:- 4, Option ID : -172

Question ID:- 44




The “sense of belongingness’ could be developed in a child through :
(1) Community service

(2) Excursion
(3) Morning Assembly
(4) Library

s § fr=ifera § 9 forg wmeam 9 stredtaan s sia’ faesfag foman s gerar €2
(1) YR e

(2) HAEFEE A

(3) WId:RIAE G

(4) g AR E (M S
Options:-

.1, Option ID :- 173,
. 2, Option ID :- 174,
. 3, Option ID :- 175,

. 4, Option ID :- 176,
Answer Given:- 1, Option ID : -173

Question ID:- 45

Development of ‘self-control’ among children can be achieved through :
(1) process of socialisation

()

process of socio - emotional learning

(2)
(3) participative learning
(4)

peer learning

Tl | ' 3eq-Taan’ fasrfad = =1 @1 friferd § 9 foraes mream | gre & s 9sar 82

(1) HHSTHT ] TeHH

(2) HHEISH-HidfF A gehe
(3) gfaurdt siferr

(4) HHmET™ FAfH

Options:-

.1, Option ID :- 177,
. 2, Option ID :- 178,
. 3, Option ID :- 179,

. 4, Option ID :- 180,
Answer Given:- 2, Option ID : -178

Question ID:- 46




The diagnostic assessment of learner addresses the following :
(1) Strong areas

(2) Strong and weak areas
(3) Only weak areas
(4) Overall personality

Al & "l Jediwa | F=ifed 9§ 9 e fFear g g2
(1) Y 98]

(2) Yad 3R gael 94
(3) Had goA 9
(

4) HHY Al

Options:-

.1, Option ID :- 181,
. 2, Option ID :- 182,
. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 3, Option ID : -183

Question ID:- 47

The main aim of Education is

(1) Earning

(2) Learning

(3) Living

(4) Transformation

e = =m T
(1) =TSH

(2) 3ferTH

(3) it frate
(4) TG
Options:-

.1, Option ID :- 185,
. 2, Option ID :- 186,
. 3, Option ID :- 187,

- 4, Option ID :- 188,
Answer Given:- 4, Option ID : -188

Question ID:- 48




The school 1s

(1) Centre for learning
2) Centre for socialisation
3) Place of knowledge

(
(
(4) Institution of discipline
IEEIGE! % :

(1) 3o =1 %=

(2) HHETSIHI H Hg

(3) FH 9 =1 TIH

(4)  STTEA =l HEA

Options:-

.1, Option ID :- 189,
. 2, Option ID :- 190,
. 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 2, Option ID : -190

Question ID:- 49

When there is no target placed for teaching and learning, it would come under ?
(1) Informal Education

(2) Adult Education

(3) Non formal Education

(4) Formal Education

TE AT 3R AT % fau FE afad = T8l 8l o 98 [Aeiicd 3 9 g Gl 5 s ?

(1) g (ARHA)

(2) e foem

(3) SHAMg=ER foem

(4) Arg=nfies fran
Options:-

.1, Option ID :- 193,
. 2, Option ID :- 194,
« 3, Option ID :- 195,

. 4, Option ID :- 196,
Answer Given:- 3, Option ID : -195

Question ID:- 50




What is ‘Development’ in child’s growth ?
(1) Qualitative change

(2) Quanttative change
(3) Tangible change
(4) Social change

A i Gafg §  fawm’ # g ?

(1) TUTeHe gfeEd-

(2) HEREE gfEd

(3) ardfas (3M) 9iEd
(4) Gmifss afEd
Options:-

.1, Option ID :- 197,
. 2, Option ID :- 198,
. 3, Option ID :- 199,

. 4, Option ID :- 200,
Answer Given:- 1, Option ID : -197

Question ID:- 51

Which one of the following is powerful social agent to influence the child ?
(1) School

(2) Media
(3) Teacher
(4) Parent

dTeTeh 1 yuifad & & fau f=ifea § 9 = afeaenedt e qeam 22
(1) faEme

(2) Hifem

(3) HATIH

(4) -
Options:-

.1, Option ID :- 201,
. 2, Option ID :- 202,
. 3, Option ID :- 203,

- 4, Option ID :- 204,
Answer Given:- 4, Option ID : -204

Question ID:- 52




The Juvenile delinquency can be dealt :
(1) Through chemotherapy

—
I

)  Through warmth and Emotional support
(3) Counselling
)

(4) Peer learning

foreTR oy =1 Freamor foran s gl ©

(1) A e (FHEYE) & 9reaq 3
(2) @ik 3R WE-TcHE FEan & "I |
(3) XY % HIEAH

(4) HuFHEE 3T

Options:-

.1, Option ID :- 205,
. 2, Option ID :- 206,
. 3, Option ID :- 207,

. 4, Option ID :- 208,
Answer Given:- 2, Option ID : -206

Question ID:- 53

How can you understand ‘the learner” ?
(1) Through his/her habits

—

)

(2) Through marks/grades
(3) Through the behaviour observed without their knowledge
(4) Social activity

31q * saferTeRdl | B FY TH A © 2

(1) 3Tehi 7l 9

(2) Heh g WD /U< 9

(3) 3! SHHA & fo1 2 39 Ufed saeer 4§
(4) grrfses nfafafy 3§

Options:-

.1, Option ID :- 209,
. 2, Option ID :- 210,
. 3, Option ID :- 211,

- 4, Option ID :- 212,
Answer Given:- 4, Option ID : -212

Question ID:- 54




What is the purpose of school supervision ?
(1) Fault finding

(2) Administrative requirement
(3) Evaluation
(4) Guidance and support
fermre™ & 94asI 1 w1 YA § 2
(1) fEsrEym
(2) I wemEtTe AfTardar €
(3) HEAFA
(4) HFEYE AR Ham
Options:-

.1, Option ID :- 213,
. 2, Option ID :- 214,
. 3, Option ID :- 215,

. 4, Option ID :- 216,
Answer Given:- 4, Option ID : -216

Question ID:- 55

The contribution of J.B. Watson in Education is
(1) Constructivism

()

Behaviourism

4 Connectivism

(2)
(3) Cognitivism
(4)

foren & &3 § 9.4t 9regq 7 9 &9 9 3799 areE fea 2

(1) TEA1ER

2 Zdoldla

(2)
(3) HIFATHFAEE
(4)

4) HHFIR

Options:-

.1, Option ID :- 217,
. 2, Option ID :- 218,
. 3, Option ID :- 219,

- 4, Option ID :- 220,
Answer Given:- 3, Option ID : -219

Subject : UTL_Q56-Q70_PGTHIN

Question ID:- 56




Which one of the following environmental factor enhances learning ?
(1) Size of classroom

(2) Comfortable furniture

(3) Good ventilation
(4)

4 Decorated classroom

f=ifera § | forw gafeoia R 9 31ferm &1 Jaga i § 2
(1) h&T =l AT

(2) HARTHEE A=
(3) STH ArdrE-
(4) HHfSTd e

Options:-

.1, Option ID :- 221,
. 2, Option ID :- 222,
. 3, Option ID :- 223,

. 4, Option ID :- 224,
Answer Given:- 3, Option ID : -223

Question ID:- 57

What do you mean by ‘Discipline” in child ?
(1) External behaviour

(2) Body language
(3) Internal behaviour
(4) Action through Internal behaviour

s H ' STTAEA" H SR A A © 2
(1) =T FaEr

2) YRR Rl -4

3) A& FATER

4)  FIdRE HTER & 9AH g FH

(
(
(

Options:-

.1, Option ID :- 225,
. 2, Option ID :- 226,
. 3, Option ID :- 227,

. 4, Option ID :- 228,
Answer Given:- 1, Option ID : -225

Question ID:- 58




The personal trait of child ‘Honesty’ comes under :
(1) Syllabus
Curriculum

9

(2)
(3) Hidden Curriculum
(4)

4 Text book material

g=f = Al 0 ARl e staria oTrar 2 2

(1) YiSThH

(2) U=l

(3) et ueT==

(4) ST |
Options:-

.1, Option ID :- 229,
. 2, Option ID :- 230,
. 3, Option ID :- 231,

. 4, Option ID :- 232,
Answer Given:- 3, Option ID : -231

Question ID:- 59

The Assessment of learner is done to find out :
(1) Subject knowledge mastered

2

(2) Weak areas which need support
(3) Apttude
(4) Ability to cope with stress

SAfeTHeRdl 1 Hedich fFeiferd | | I & o ferg foran s 2
(1) Tawa s foram gt urd € @

2) goa 9 foad gedm srufera @

3) HivE=

(
(
(4) @ d | A &1 Frga
Options:-

.1, Option ID :- 233,

. 2, Option ID :- 234,

. 3, Option ID :- 235,

. 4, Option ID :- 236,
Answer Given:- 2, Option ID : -234

Question ID:- 60




What should be the quality of successful teacher ?
(1) Good communication

(2) Positive attitude

(3) Dynamism

(4) Magnetic personality

s 9% @1er § 01 g =nfe 2
(1) 39 Y9

(2) HhrieHeR 3tfvgid

(3) i

(4) 2AERYeE SAfHe
Options:-

.1, Option ID :- 237,
. 2, Option ID :- 238,
. 3, Option ID :- 239,

. 4, Option ID :- 240,
Answer Given:- 2, Option ID : -238

Question ID:- 61

‘Collaborative group work” among children comes under :

(1) Behaviarism
(2) Constructivism
(3) Connectivism
(4) Cognifivism

aerent H wewfrarens aqe w5’ Freitea ° | s siafa e g2

(1) =AdERaR

(2) TEAER

(3) HHFARE

(4) HIAFAHEA 918

Options:-

.1, Option ID :- 241,
. 2, Option ID :- 242,
. 3, Option ID :- 243,

- 4, Option ID :- 244,
Answer Given:- 1, Option ID : -241

Question ID:- 62




‘Learning by doing’ is :

(1) Problem solving

(2) Laterd thinking

(3) Divergent thinking
(4) Experiential learning

‘T w0 F HrEegE 1§ e ©

(1) FHE HHHH
(2) ifgee e
(3) AYERI f=e
(4) gt sAfyy
Options:-

.1, Option ID :- 245,
. 2, Option ID :- 246,
. 3, Option ID :- 247,

. 4, Option ID :- 248,
Answer Given:- 1, Option ID : -245

Question ID:- 63

Which one of the following is cognitive challenge among Adoloscants ?
(1) Extravertism

(2) Intravertism

(3) Egocentric

(4) Aggression

fr=ifera 9 9 a1 fRey/ fRenfEl & g § 99 s Al © 2
(1) =afeqeEt &

2) HAqEl B

3) € hi=md

4)  AHHF BT

(
(
(

Options:-

.1, Option ID :- 249,
. 2, Option ID :- 250,
. 3, Option ID :- 251,

- 4, Option ID :- 252,
Answer Given:- 3, Option ID : -251

Question ID:- 64




What is the basic role of teacher in classroom ?
(1) Teaching

(2) Assessment

(3) Control

(4) Inspiring

FHEH HAAF 1 ged i 1 872
(1) HALAMYA

(2) HeHHA

©BREREL

(4) 9N ENG & €9 H e fate
Options:-

.1, Option ID :- 253,
. 2, Option ID :- 254,
. 3, Option ID :- 255,

. 4, Option ID :- 256,
Answer Given:- 4, Option ID : -256

Question ID:- 65

Which one of these is essential for learning ?
(1) Effort

(2) Interest
(3) Attention
(4) Concentration
srfermy & feu f=ifea § 9 = erfed €2
(1) 94iE
(2) ==
(3) ®AH
(4) WAl
Options:-

.1, Option ID :- 257,
. 2, Option ID :- 258,
. 3, Option ID :- 259,

- 4, Option ID :- 260,
Answer Given:- 4, Option ID : -260

Question ID:- 66




‘Prohibition of unrecognized schools” dealt by :

(1) NEP-2020
(2) POA 1992
(3) RTE Act. 2009
(4) NPE-1986

“T-Ar=ramTd faemerl 1 yfauy’ 1 Seog fAeifed § 9 faay f mn 82
(1) U foen =ifd, 2020 (TA.3.41.)

(2) U™ 3HTE THH, 1992 (91.31.T,)

(3) foen =1 sfuerr sAfafEm, 2009

(4) g foved i, 1986 (TA.GLE.)

Options:-

.1, Option ID :- 261,
. 2, Option ID :- 262,
. 3, Option ID :- 263,

. 4, Option ID :- 264,
Answer Given:- 2, Option ID : -262

Question ID:- 67

The newly proposed curriculum design as per NEP-2020 :
(1) 5+3+3+4

(2) 5+3+4+4
(3) 10+2+3+4
(4) 6+2+3+2

T foan ifd, 2020 & SFTER & € § yEdifad grerEE 1 AfveEey €

(1) S5+3+3+4
(2) S5+3+4+4
(3) 10+2+3+4
(4) 6+2+3+2
Options:-

.1, Option ID :- 265,
. 2, Option ID :- 266,
. 3, Option ID :- 267,

. 4, Option ID :- 268,
Answer Given:- 1, Option ID : -265

Question ID:- 68




Classroom observation by supervisor would lead to

(1) Analysis of teaching.

(2) Enhancement of learning.
(3) Administrative requirement will be fulfilled.
(4) Learning gaps can be filled and remediation can be provided for academic excellence.

eI R HE Y& & Hel sy -
(1) 1= =1 fawermo g

Y

(2) HATTH = GG BT
(3) IR aTdenm gt Bt
(4) Aferm fegl =1 qu foan siar 2 2R Sterforr Sepwear & fore T Suess 3@ ST Hehdl § |

Options:-

.1, Option ID :- 269,
. 2, Option ID :- 270,
. 3, Option ID :- 271,

. 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272

Question ID:- 69

What is the Academic role of Principal ?
(1) Budget Preparation

R

(2) Organising cricket tournament
(3) Demo-lesson to teachers
(4) Time-table making

g %1 Seaforr it F= E 2

(1) &S IR HEAT

(2) ToheRe ZAMHe &1 ARSH

(3) HATIhI sl UIS 1 YU (SHI) &1
(4) HHI-HRUT ST

Options:-

.1, Option ID :- 273,
. 2, Option ID :- 274,
. 3, Option ID :- 275,

- 4, Option ID :- 276,
Answer Given:- 3, Option ID : -275

Question ID:- 70




What is the disadvantage of conventional curriculum ?
(1) Boring to the children

(2) Disinterest
(3) Will not satisfy late bloomers
(4) Will not satisfy gifted children

ORI re= il 9 o 81 © 2

(1) 78 arerehi * fore 3a1% B

(2) I8 EfaF B

(3) THY W H T I A G Tal ail |
(4) 3u9 fafore yfqumme srers dqe =@ 2

Options:-

.1, Option ID :- 277,
. 2, Option ID :- 278,
. 3, Option ID :- 279,

. 4, Option ID :- 280,
Answer Given:- 1, Option ID : -277

Subject : CCLE SOL PE_Q71-Q80_PGTHIN
Question ID:- 71

‘Equality’ 1s associated with :

(1) Inclusive Education
(2) Exclusive Education
(3) Special Education
(4) Comprehensive Education
‘g’ Freifea § | feed dag 82
(1) SHTae faen
(2) faasi foan
(3) faer faran
(4) H9u forem
Options:-

.1, Option ID :- 281,
. 2, Option ID :- 282,
. 3, Option ID :- 283,

« 4, Option ID :- 284,
Answer Given:- 1, Option ID : -281

Question ID:- 72




What is ‘Dyscalculia’ ?

(1) Inability to understand number
(2) Inability to hold Pen

(3) Inability to read

(4) Inability to speak

‘fechespfam’ =1 ad fFag 82

(1) H&A Tl 99 1 SEFFar (TH %)
(2) HEH YFST DI SERIA

(3) ST dhed

(4) e H AHdl (916 dhed)

Options:-

.1, Option ID :- 285,
. 2, Option ID :- 286,
. 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- 1, Option ID : -285

Question ID:- 73

PWD Act 2016, Provides :

(1) The right to free education for all ages of disabled
2

(2)
(3) Free Education to Disabled up to the age of 14 years
(4)

The right to free education in the age group of 6-18 years of disabled

Funding for disabled

feaain 5= sifufm, 2016 ® 39y fman T % -

1) Torel ot 3 o fe=im =1 Fyes fosn =1 sifusr

2) 6918 9Y d% & FgF-a7 = fe=uin 1 4.9 foan =1 sAfeer
3) 14 99 T i A & fG=A & foqg .90k foean

4) fe=m & fau fafem

Options:-

.1, Option ID :- 289,

. 2, Option ID :- 290,

. 3, Option ID :- 291,

. 4, Option ID :- 292,
Answer Given:- 4, Option ID : -292

(
(
(
(

Question ID:- 74




‘Manodarpan’ Launched by MOE recently deals with :

(1) Counselling to students for betterment of academic performance
(2) Guidance to the students suffering from COVID-19

(3) Counselling to support children suffering from mental health issues
(4) Guidance to children for competitive exams

foren wemera g & @ ° U o e weedu’ frsited | 9 feeg defua 82
(1) Sterfores srdfreaes i 2R 399 5= & fou faenfel= =t gemel fen s

(2) Ifas-19 HemRl | 7% faenfe=i 1 wmel fean s
(3) HEfEE Wz gad I / Il 9 gad arctehl sl 9ume e s
(4) wfaard wensii @ foau srerenl = gume feun s

Options:-

.1, Option ID :- 293,
. 2, Option ID :- 294,
. 3, Option ID :- 295,

. 4, Option ID :- 296,
Answer Given:- 3, Option ID : -295

Question ID:- 75

What is the minimum percentage of disability prescribed for Divyangjan to claim benefits from
Governments ?

(1) 30%
(2) 50%
(3) 20%
(4) 40%

TR § e yre 3 1 a6 #1 o fon fesaimsm & ded o fafed =man . v foran wfaera 2 2

(1) 30%
(2) 50%
(3) 20%
(4 40 %

Options:-

.1, Option ID :- 297,
. 2, Option ID :- 298,
. 3, Option ID :- 299,

. 4, Option ID :- 300,
Answer Given:- 4, Option ID : -300

Question ID:- 76




The Quality of good school leader is :
(1) Good speaking ability

(2) Good listening ability
(3) Inspiring ability

(4) Adapting ability
3TH Thel TSl I T ;
(1) 3dH dish &Hdl

(2) 3H A9 &HdT

(3) AU A =T &
(4) SghclT &Hd
Options:-

.1, Option ID :- 301,
. 2, Option ID :- 302,
. 3, Option ID :- 303,

. 4, Option ID :- 304,
Answer Given:- 4, Option ID : -304

Question ID:- 77

What is the purpose of SDP [School Development plan] ?
(1) Academic excellence

(2) All round development

(3) Adequate funding

(4) Recruitment of teacher
el e A1 1 1 JASH © 2
(1) Serforeh Icpeea

(2) Haf faesmm

(3) wHE fAferEes

(4) AR I Ydl
Options:-

.1, Option ID :- 305,
. 2, Option ID :- 306,
. 3, Option ID :- 307,

. 4, Option ID :- 308,
Answer Given:- 2, Option ID : -306

Question ID:- 78




What is the role of School Time Table ?
(1) To complete the syllabus well in time

(2) To fix slot for learning
(3) To ensure smooth and orderly working of the school on all round development
(4) To complete examinations on time

oo™ &1 992 9ol feg 3899 9§ 99K 9Irdl @ 2

(1) H99 Hafy § gU uresshd &l I0 & & g

2) sferm & fou e (fAuifa saa-<e) faa &

3) uuy fasm & fou faznmem &1 g% IR et #rds giAafveg s
4) Y YL U{AT g T

(
(
(

Options:-

.1, Option ID :- 309,
. 2, Option ID :- 310,
. 3, Option ID :- 311,

. 4, Option ID :- 312,
Answer Given:- 3, Option ID : -311

Question ID:- 79

NCF- 2005 mainly focussed on :
(1) Classroom teaching

(2) Activity method

(3) Examination reforms

(4) A.V. Aids

T qred=dl EREI- 2005 (TTHUE - 2005) H 7eAd: fe o2 o feun m=n 22

(1) H&H AT
(2) wEFHAN IS
(3) udier gioms

(4) FA-TF TR
Options:-

.1, Option ID :- 313,
. 2, Option ID :- 314,
. 3, Option ID :- 315,

- 4, Option ID :- 316,
Answer Given:- 4, Option ID : -316

Question ID:- 80




What is the advantage of CCE scheme ?
(1) Joyful learning

(2)

(3) Improves quality of learning

(4) Co - scholastic areas are also evaluated

Removes unhealthy comparision when grades introduced

o1 € 3 (Fad Ud 99U gedisha) ArSHE § #= @1Y @ 7
(1) 3T 9 A

(2) =99 U< yune enfud fR §M % 9 SHEvTE qocas e aTE g1 ©
(3) THH AfrTa i U H GUR 21§

(4) THH HE-ATAIH &0 1 |l YHiF 2§

Options:-

.1, Option ID :- 317,
. 2, Option ID :- 318,
. 3, Option ID :- 319,

. 4, Option ID :- 320,
Answer Given:- 2, Option ID : -318

Subject : HINDI_Q81-Q180_PGTHIN

Question ID:- 81

frefafad T #1 SAFYEE 9fet SR 39 W SHEG 999 &1 Heid I ey

e 1 <90 39 YR Fi 21 R off fF uu-Fo e F A9 @2 ¥ | Hed H UH-UE g9l ITer-
ST aRihT o Q1Y o1 G gSdt B 1 UM i G F Uh-Ush 21 aef Qrar IR Hed o 91§48 T8
21 3@ 9T 1 T8 7E 9 USdl 6 98 $8 @ T ST 81 e d I TH-F &1 U 91y <4 1@ 8, dfch
7 S ggdl & o it a1 afcrl frm o fore o 9 W 9l € oiR it 79 o & foe 938 s | s e
T Tl o Ufd afe F51 Wehe i ST ol 98 13, 99 SR diieh] S1eiq 9reH-geg=al o fa=m 9 2,
e i quiar s1eiq en o foamr | =8, fogs S2va 9me-22g W Ay 99E STed ¢ |

T 1 A I TH-Th 2t FE T T T2
(1) <Faet FrEgmE 9

2) <had Hedd 9§

3) A HEYH ¥, 9 Hedd 9

4)  HEYFE AR HEAd 9

(
(
(

Options:-

.1, Option ID :- 321,
. 2, Option ID :- 322,
. 3, Option ID :- 323,

. 4, Option ID :- 324,
Answer Given:- 4, Option ID : -324

Question ID:- 82




frefafaa e & ey ufer iR 38 W senfia we &1 9ete S gife

faasTdt i <90 39 YHR Fi B TE ot F Ua-Fon wEa & Y @S T | Fed B UH-TH g9l -
ST AT o 1 a1 fGER gSdl T | U1 i T I Ush-Uah 921 9! QadrH R Hed o 91 9978 T8
€ | @A 91el @1 78 el 9 9Sdl o 98 $9 W T 1L FHed I TH-F9 i Uk |1 <@ @ ¢, aiceh
Tg 9 ggdl ¢ T it o ufer frem & o o U W e @ o &l 79 o & foag o s d s )
Tl T1e] o 9id 3fe 951 Wahe il STt ol 98 3199/, 99 3R FRih! 3747d 9reH-909=Td1 < f9<9r 9 2,
e 1 YUl Al e & faan | =&, fous 3290 ure-ed W oL Y919 ST ¢ |

qH-F faFs 1§ 2
(1) Afear ferm

(2) SAHIY & A=
(3) hed % =

(4) = F TN
Options:-

.1, Option ID :- 325,
. 2, Option ID :- 326,
. 3, Option ID :- 327,

. 4, Option ID :- 328,
Answer Given:- 3, Option ID : -327

Question ID:- 83

frafafaa e 1 eaAgds ufeu 3R 39 W SEid 999 &1 92l I SIS

it 1 <9 39 TR F 2R o6t F U FEe F A9 @S T | Fed H UFH-Uh g9l e
ST FiehT o J19 AT fo@E g=dt 8 | U6 =l G0 1 Ush-T 921 ael EaHH AR He1d & 919 915 T8
21 2@ arel &1 I8 78 9H USdl fh 98 $8 @ W @el 21 e d iR THI-F ] U 919 < W@ €, e
g H vsal ¢ T &t a1 ufel fem o forn o U W =edl € oiR &3l g o & fae s 19 8§ e g
Tt Tl o Uid 9f 951 Wehe &1 ST a1 98 377, F9 SR dRicht SUiq QE--T9=dl & fa9r 9 2,
%A sl YU ALTq el o fa=r 9 7€, Foae 3899 9Ma-ged W °YL Y919 STl 2|

<@+ d1el ol 1 &1 oI 9gdl & foh

(1) =% ufeat fima & foe i =1 21

(2) &Y oA & fau g Fr a1y § S B

(3) @ ufadl 3R g & o9 aRa™ 931 W2

(4) O LGSl A Hed AR TH-F &l <@ W 2 |

Options:-

.1, Option ID :- 329,
. 2, Option ID :- 330,
. 3, Option ID :- 331,

. 4, Option ID :- 332,
Answer Given:- 4, Option ID : -332

Question ID:- 84




frefafaa e & ey ufer iR 38 W senfia we &1 9ete S gife

faasTdt i <90 39 YHR Fi B TE ot F Ua-Fon wEa & Y @S T | Fed B UH-TH g9l -
ST AT o 1 a1 fGER gSdl T | U1 i T I Ush-Uah 921 9! QadrH R Hed o 91 9978 T8
€ | @A 91el @1 78 el 9 9Sdl o 98 $9 W T 1L FHed I TH-F9 i Uk |1 <@ @ ¢, aiceh
Tg 9 ggdl ¢ T it o ufer frem & o o U W e @ o &l 79 o & foag o s d s )
Tl T1e] o 9id 3fe 951 Wahe il STt ol 98 3199/, 99 3R FRih! 3747d 9reH-909=Td1 < f9<9r 9 2,
e 1 YUl Al e & faan | =&, fous 3290 ure-ed W oL Y919 ST ¢ |

TH 3T & ufd wehe i SH et 951 arit
(1) ad g9 faar |

2) FHad IRl & faur 9

3) W U=l & foEr 9 Fed

4)  gu, Iiishl YS9y Hu=idl & fa=ur g

(
(
(

Options:-

.1, Option ID :- 333,
. 2, Option ID :- 334,
. 3, Option ID :- 335,

. 4, Option ID :- 336,
Answer Given:- 4, Option ID : -336

Question ID:- 85

frafafaa e 1 eaAgds ufeu 3R 39 W SEid 999 &1 92l I SIS

it 1 <9 39 TR F 2R o6t F U FEe F A9 @S T | Fed H UFH-Uh g9l e
ST FiehT o J19 AT fo@E g=dt 8 | U6 =l G0 1 Ush-T 921 ael EaHH AR He1d & 919 915 T8
21 2@ arel &1 I8 78 9H USdl fh 98 $8 @ W @el 21 e d iR THI-F ] U 919 < W@ €, e
g H vsal ¢ T &t a1 ufel fem o forn o U W =edl € oiR &3l g o & fae s 19 8§ e g
Tt Tl o Uid 9f 951 Wehe &1 ST a1 98 377, F9 SR dRicht SUiq QE--T9=dl & fa9r 9 2,
%A sl YU ALTq el o fa=r 9 7€, Foae 3899 9Ma-ged W °YL Y919 STl 2|

Eﬁﬁﬂ”aifa?ﬂliﬁ'HﬂﬁiiﬁiiFfT$E§Tiﬁ1iﬁ$Fq:
(1) ©=g &l gvifaa & Hia

(2) TME A W G YNE STerdl §

(3) HM4 g i U a9 ®

(4) holl ol T&gd ¥ QW FHLdl ¢

Options:-

.1, Option ID :- 337,
. 2, Option ID :- 338,
. 3, Option ID :- 339,

. 4, Option ID :- 340,
Answer Given:- 2, Option ID : -338

Question ID:- 86




(1) SREM
(2) TouE
(3) SHIGR
(4) g
Options:-

.1, Option ID :- 341,
. 2, Option ID :- 342,
. 3, Option ID :- 343,

. 4, Option ID :- 344,
Answer Given:- 3, Option ID : -343

Question ID:- 87

AATFHS T i TG © :

(1)  7IeTdl el

(2) ¥RYA AP T
(3) ol TEeeEH
(4) foRE-gymo
Options:-

.1, Option ID :- 345,
. 2, Option ID :- 346,
. 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 4, Option ID : -348

Question ID:- 88

‘faer-gumu’ 9m% 47 fRasr ©2

(1) =eHq%s T

(2) HaRE Ay

(3) T Pt

(4) varyER by
Options:-

.1, Option ID :- 349,
. 2, Option ID :- 350,
. 3, Option ID :- 351,

. 4, Option ID :- 352,
Answer Given:- 1, Option ID : -349

Question ID:- 89




“TTerdT ArEl’ & FeMIFR T

(1) B ¥
(2) S
(3) YL S
(4) W R
Options:-

.1, Option ID :- 353,
. 2, Option ID :- 354,
. 3, Option ID :- 355,

. 4, Option ID :- 356,
Answer Given:- 3, Option ID : -355

Question ID:- 90

‘oitfa § =nfoer’ ©
(1) HER

(2) e gaid
(3) el

(4) hfae
Options:-

.1, Option ID :- 357,
. 2, Option ID :- 358,
. 3, Option ID :- 359,

. 4, Option ID :- 360,
Answer Given:- 1, Option ID : -357

Question ID:- 91

‘ot frefatea |5 9 feast @ e?
(1)  Fom Hred

(2 W= WS

(3) var gHE g

(4) WEwRE! I

Options:-

.1, Option ID :- 361,
. 2, Option ID :- 362,
. 3, Option ID :- 363,

. 4, Option ID :- 364,
Answer Given:- 2, Option ID : -362

Question ID:- 92




‘St o Ug refafaa 5 9 et @ g2

(1) & HgH
(2)  +fieq e
(3) FHITE

(4) ¥ ¥er
Options:-

.1, Option ID :- 365,
. 2, Option ID :- 366,
. 3, Option ID :- 367,

. 4, Option ID :- 368,
Answer Given:- 3, Option ID : -367

Question ID:- 93

Fa ‘g & feae’ 91 ' forus w99 &2

(1) TR g

(2) TERIYER fgad

(3) HEI FHE T

(4) ¥ YW
Options:-

.1, Option ID :- 369,
. 2, Option ID :- 370,
. 3, Option ID :- 371,

. 4, Option ID :- 372,
Answer Given:- 2, Option ID : -370

Question ID:- 94

‘meeen’ % 9R H i 91 HYT TEl el ¢ 7

(1) Sie Teh T8 1 ALFHT 2 |

(2) gfran meEen 2

(3) Feq |kt i Hiad o8 A ¢ f5eH e Sfia g =1 fuerr | 2 |
(4) 9 wfaa #1 g2 S #1 TF 92 T

Options:-

.1, Option ID :- 373,
. 2, Option ID :- 374,
. 3, Option ID :- 375,

. 4, Option ID :- 376,
Answer Given:- 1, Option ID : -373

Question ID:- 95




frfafad | e 9=+ i = 8 ¢
(1) Ten-fae=m

(2) UG HMG

(3) 3P A

(4) gfn S st ©

Options:-

.1, Option ID :- 377,
. 2, Option ID :- 378,
. 3, Option ID :- 379,

. 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380

Question ID:- 96

“Sd1 =1 SreHt’ Ffaa & wfEaa €

(1) TS

(2) Hfaaay
(3) YfHa

(4) 3AEF ¥4
Options:-

.1, Option ID :- 381,
. 2, Option ID :- 382,
. 3, Option ID :- 383,

. 4, Option ID :- 384,
Answer Given:- 4, Option ID : -384

Question ID:- 97
o g3

UEqd e Ufea & i €
(1) AR &=

2) 379k ATl

3)  HaEt AREY

4) T g UE

(
(
(

Options:-

.1, Option ID :- 385,
. 2, Option ID :- 386,
. 3, Option ID :- 387,
. 4, Option ID :- 388,




Answer Given:- 1, Option ID : -385

Question ID:- 98

fr=fafad § 9 -4 Fer TRE & = 69 ¢ 2

(2) HAY-HHA

(3) IS THU Tl
(4) g U s ©
Options:-

.1, Option ID :- 389,
. 2, Option ID :- 390,
. 3, Option ID :- 391,

. 4, Option ID :- 392,
Answer Given:- 4, Option ID : -392

Question ID:- 99

frefafad °§ 9 FF-91 F99 TER 98™ & aR) § 98 TE 8 2

(1) 9 U9 9 T THR 9|

(2) @ g FUHR AR TH FHa o 4|

(3) VAR Herd Hehici Siddl o Ush GAga9ie AH0 98 2 |
(4) Hfadl =l IR Tk FBMEYA AR A2HE 999 fear|

Options:-

.1, Option ID :- 393,
. 2, Option ID :- 394,
. 3, Option ID :- 395,

. 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100

YR TR 4T 1 HTeT-HuE e © ¢
(1) 3w

(2) EAIY i Teh 9MH

(3) e IS Fel GO

(4 gG&

Options:-

.1, Option ID :- 397,
. 2, Option ID :- 398,
. 3, Option ID :- 399,

. 4, Option ID :- 400,
Answer Given:- 4, Option ID : -400

Question ID:- 101




fafafaa 5 9 =@ 9 Sfaa-gus Fue &1 78 ¢ ?

(1) vitfaert

(2) T 9H

(3) @

(4) SHAIA-HEA
Options:-

.1, Option ID :- 401,
. 2, Option ID :- 402,
. 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 4, Option ID : -404

Question ID:- 102

frefafad 5 | gades & 9 § HE-91 FY T8 Tél ¢ 2

(1) qorEer i oieh 7T I <H1 8 Tl U3 ¥

(2) qodt | Stad g a1 SAgE AqYfd IR HifHdEw g i gE 96 B

(3) Weld AR Siaq o fafay wy@ qui fosi 9 39 w-wa9r 4 favm ggfs == & 2|
(4) dodt i 2R difehss W % A1 551 o 999 3R 3% 99599 & &id 2|

Options:-

.1, Option ID :- 405,
. 2, Option ID :- 406,
. 3, Option ID :- 407,

. 4, Option ID :- 408,
Answer Given:- 3, Option ID : -407

Question ID:- 103

fr=fafed 9 9 -9 A qeRdl 9H1 Fi @ ¢ 2

(1) <raferE
(2) AU
(3) FTHEN
(4) HeRfeqd
Options:-

.1, Option ID :- 409,
. 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 2, Option ID : -410

Question ID:- 104




S92 & fefafes wEe 4 fE-91 fa9r yaE Aeay-gug 2

(1) Y=y

(2) THF AN EH

(3) HIEl

(4) A
Options:-

.1, Option ID :- 413,
. 2, Option ID :- 414,
. 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 2, Option ID : -414

Question ID:- 105

wOiaR 1] i fefafad el 3 -4 T S8R @ 6 2

(1) el hifd e
(2) Ha-Sga
(3) ° qerdl i Y
(4) FHUISTA-49cd

Options:-

.1, Option ID :- 417,
. 2, Option ID :- 418,
. 3, Option ID :- 419,

. 4, Option ID :- 420,
Answer Given:- 4, Option ID : -420

Question ID:- 106

Frfafaa | faw) @t &1 Ffaa-gue =8 © -
(1) g 0 g 9

(2) U TR EaA 999 |

(3) fusen sl

(4) 9e<p 994

Options:-

.1, Option ID :- 421,
. 2, Option ID :- 422,
. 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- 4, Option ID : -424

Question ID:- 107




92 3t 0 To9 & fou ufag 92

(1) dar&q hedl
(2) TeerERe
(3) H

(4) TpelhR]
Options:-

.1, Option ID :- 425,
. 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 2, Option ID : -426

Question ID:- 108

"1 W faT 91E % THS FI G

11 ¥ ATl & 3H Te- 4

w18 & &dl § Sl ol ol ©

51 3ol ¢ faafaed a=1 i 241’

I wreay Frefafaa § 9 fog =fa =t wfaa 9 €2
1) YR Feige fHe

) T Ty

A e

HAvaedrd HaAl

Options:-

.1, Option ID :- 429,
. 2, Option ID :- 430,
. 3, Option ID :- 431,

. 4, Option ID :- 432,
Answer Given:- 2, Option ID : -430

9

(
(
(3
(4

)
)

Question ID:- 109

frfafas 5 9 59 @ 99 7990 $9R F Oifecd F 9R § 98 &6 @ 7
(1) S5Fd FHR % TSicl HUE 61 AW 93 H g9’ T |

(2) WA FHR & TS o AT IX 37T 379 H Yof SR =6 ¢ |

(3) ToHd FHHR i TSl H TSI 3R A W T 7 2

(4) oA FHR Hi Mo A 39 faun =1 &S o yfafea fn g

2

o

Options:-

.1, Option ID :- 433,
. 2, Option ID :- 434,
. 3, Option ID :- 435,




. 4, Option ID :- 436,
Answer Given:- 3, Option ID : -435

Question ID:- 110

2R B 1 SEAl g ST,
HHeqHHl Id91 &F1 Waead &1,

BHN B %54 & [ WUER,
Yehe Bk faene & s

Id -Gl & TR © ;
(1) AR |98

(2) Hfsdany

(3) Y

(4) IHIR Fergl fHE
Options:-

.1, Option ID :- 437,
. 2, Option ID :- 438,
. 3, Option ID :- 439,

. 4, Option ID :- 440,
Answer Given:- 4, Option ID : -440

Question ID:- 111

fr=fafad § 9 -4 =1 ST 9 i T8 © 2

(1) Tervaemfd

(2) TG

(3) UMl

(4) Trsity
Options:-

.1, Option ID :- 441,
. 2, Option ID :- 442,
. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 3, Option ID : -443

Question ID:- 112

frfafad § | #F-m1 w99 ey & afecs & IR 5 98 78 ¢ 7
(1) T5efr== it 9w SEmEE! Tarfad 9 9o @ |

(2) TSI 1 31S 33 Ta i THH 9 T 2|

(3) Tocir=m wifdars] & o %Y JEARER! SR & g 31 T € |
(4) Toem=a fe<t § |iqe &1 w@nfia 3 916l #fa & 9§ ot 9F d © |

Options:-




.1, Option ID :- 445,
« 2, Option ID :- 446,
. 3, Option ID :- 447,

. 4, Option ID :- 448,
Answer Given:- 1, Option ID : -445

Question ID:- 113

I % F1 H TA-H1 HYT TEl el © 7
(1) =’ S 91 %1 Seequ] FHafas of |

(2) FO-9F B & U 3] Hiadl § U i = €9 Y €
(3) Toju i &1 g 3Rt wfaasti § 5@ fuer |
(4) Hd i & 3% 6 HH I 2 |

Options:-

.1, Option ID :- 449,
. 2, Option ID :- 450,
. 3, Option ID :- 451,

- 4, Option ID :- 452,
Answer Given:- 3, Option ID : -451

Question ID:- 114

frefafad § @ ®F-91 = giasHEed dd & T8 © 7
(1) =@ fao

(2) el R a1 =g

(3) H-12l
(4) 3©
Options:-

.1, Option ID :- 453,
. 2, Option ID :- 454,
. 3, Option ID :- 455,

- 4, Option ID :- 456,
Answer Given:- 3, Option ID : -455

Question ID:- 115

‘gfaeror a1 a1 aER T fuer
e &% Ty fores @1 2 74 9 aifig |en )’
Yfeadl & TEATHRR § -

(1) HFId et froen
(2) TR Bt
(3)
(4)

A qd
Tered! a9




Options:-

.1, Option ID :- 457,
. 2, Option ID :- 458,
. 3, Option ID :- 459,

. 4, Option ID :- 460,
Answer Given:- 2, Option ID : -458

Question ID:- 116

fr=fafad § ®F-91 %= vyaF! yae g % o d 9dl 78 82

(1) variyarR g =t wiaa et 1 es @3 Fit FHaa 2|
(2) 39 GESdl &1 HaY M % 9@ H A 9 o sa e
(3) 3R U U9 =t wfgan 72 forat g |

(4) Tag st 1 Ffaa = W o w' T E)

Options:-

.1, Option ID :- 461,
. 2, Option ID :- 462,
. 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 3, Option ID : -463

Question ID:- 117

R H TI e TN 1 GATohd Y&ATd Thd RIeRITH el Hifdu-a49] J g3 a1 s 7R T - 41 fohan ?

(1) STHA 991 giat

(2) " YT it

(3) WHIZITET &l 93 foran
(4) WIH 9 MY

Options:-

.1, Option ID :- 465,
. 2, Option ID :- 466,
. 3, Option ID :- 467,

. 4, Option ID :- 468,
Answer Given:- 2, Option ID : -466

Question ID:- 118

‘9u% " AMF FerFl fEes e fadt T 2 2

(1) Y9dg

(2) =

(3) I Heee WiER
(4) RUNYETIY 7]
Options:-

.1, Option ID :- 469,




. 2, Option ID :- 470,
. 3, Option ID :- 471,

. 4, Option ID :- 472,
Answer Given:- 1, Option ID : -469

Question ID:- 119

‘faear afEn’' & =R £ -

(1) #AEEI™ S
(2) SFT Fed

(3) 3H YrHE]

(4) TUA %k
Options:-

.1, Option ID :- 473,
. 2, Option ID :- 474,
. 3, Option ID :- 475,

- 4, Option ID :- 476,
Answer Given:- 1, Option ID : -473

Question ID:- 120

‘1 mfecy 1 TS i gfe § <@ 1 UATd € | S aWsiel B i gitd, T ST TOgEritar § 9= |
e, ... GAeTNIH 7 971 9o, 39 Tifecd e § got Gehrd gt g1

I faar fg e & € 2
(1) THHEg YA

(2) e yEE fgad

(3) +egAr arsTuHl

(4) HfaE™ IH=]
Options:-

.1, Option ID :- 477,
. 2, Option ID :- 478,
. 3, Option ID :- 479,

. 4, Option ID :- 480,
Answer Given:- 2, Option ID : -478

Question ID:- 121

fefafad 5 9 -9t 919 SR & 9] § T8 76l © 7

(1) THE SFai WeehR 78l ¢ |

(2) =l fAaia Sufars @

(3) ST AYF HH & A H 9k aR 1 yfafad off T
(4) & &l ¢ foh e uftepd IR aFe Yot § fadt s

N

Options:-




.1, Option ID :- 481,
. 2, Option ID :- 482,
. 3, Option ID :- 483,

. 4, Option ID :- 484,
Answer Given:- 1, Option ID : -481

Question ID:- 122

UeHA & ToU FeMl 1 HH-H dcd 3999F Tl © 2

(1) HARSH

(2) HifereRdl

(3) g

(4) T H FHJeH
Options:-

.1, Option ID :- 485,
. 2, Option ID :- 486,
. 3, Option ID :- 487,

- 4, Option ID :- 488,
Answer Given:- 4, Option ID : -488

Question ID:- 123

frefafad 5 9 $F-a1 w7 98 76 § ?

(1) Tfew Sfeshm sl YRA 1 J8ell |z Fal 51 Fehdl ¢ |

(2) few elewm wiiar F @ TR 7= = @ 7

(3) dadrze W fayg i & F &1 99 dectal Sich™ 6l Sl |
(4) = el § gere yeeRial il YEeT 1983 ¥ 2002 % =i+ &2 |

Options:-

.1, Option ID :- 489,
. 2, Option ID :- 490,
. 3, Option ID :- 491,

- 4, Option ID :- 492,
Answer Given:- 2, Option ID : -490

Question ID:- 124
FOTEET i T YA & U Frefafaa § 94 2
(1) & =37 HH1

(2) AP I
(3) THaY
(4) HEIO
Options:-

.1, Option ID :- 493,
. 2, Option ID :- 494,




. 3, Option ID :- 495,

. 4, Option ID :- 496,
Answer Given:- 1, Option ID : -493

Question ID:- 125

(1) TTREA™
(2) FHEREH
(3) qAHE™
(4) YaEM™
Options:-

.1, Option ID :- 497,
. 2, Option ID :- 498,
. 3, Option ID :- 499,

. 4, Option ID :- 500,
Answer Given:- 3, Option ID : -499

Question ID:- 126
SURIFL SI9 i Hiaar B 90 @’ & g1 H hiE-91 et 76l ¢ 2
(1) B TR Ea FE  ad F S HE F % e S A ) i w5 #

(2) a1 FHTS 1 I FbR T &l a8 Tl ¢ |
(3) @ H U1 B A 3 ol THE TEl 2l |
(4) rfecT %1 W FH Fohal T8l © |

Options:-

.1, Option ID :- 501,
« 2, Option ID :- 502,
. 3, Option ID :- 503,

. 4, Option ID :- 504,
Answer Given:- 3, Option ID : -503

Question ID:- 127

frefafed § § e grEfes 1 vesd 5= Well 3 78l fodl 872

(1) TSHI

(2) faden

(3) TamHl

(4) THHIT
Options:-

.1, Option ID :- 505,
. 2, Option ID :- 506,
. 3, Option ID :- 507,
. 4, Option ID :- 508,




Answer Given:- 2, Option ID : -506

Question ID:- 128

‘Tl eTEeeH’ & 9 ¥ f=fafad § @ SF-91 956 96 768 8 ?

(1) Tl =eireeeA =1 gay Afeamsa 9 o1

(2) o1 TEEEEH @ THeE 9 |

(3) ot FHiEeEE 99 fawar a9m & fore "9t 9
(4) Toar FdrEeEH B TR &t Tfed 591 & 9 |
Options:-

.1, Option ID :- 509,
« 2, Option ID :- 510,
. 3, Option ID :- 511,

. 4, Option ID :- 512,
Answer Given:- 3, Option ID : -511

Question ID:- 129

(1) Y=o a4
(2) = FER

(3) T =S

(4) ST e aHi
Options:-

.1, Option ID :- 513,
. 2, Option ID :- 514,
. 3, Option ID :- 515,

. 4, Option ID :- 516,
Answer Given:- 2, Option ID : -514

Question ID:- 130

Sk Heled! goid: fhe W9l i TaHR © 7

(1) df[a
(2) *h-g
(3) I
(4) f&=i
Options:-

.1, Option ID :- 517,
. 2, Option ID :- 518,
. 3, Option ID :- 519,

. 4, Option ID :- 520,
Answer Given:- 2, Option ID : -518

Question ID:- 131




FON Hrardt st fefafiad wet § $E-91 9 gafad T8 @ 2

(1) o= g - 39

(2) feerefa - HEHI-HUB

(3) V=i % ATclleh H - g e
(4) U TSHh - 39

Options:-

.1, Option ID :- 521,
. 2, Option ID :- 522,
. 3, Option ID :- 523,

. 4, Option ID :- 524,
Answer Given:- 2, Option ID : -522

Question ID:- 132

fr=fafaa 4 9 FF-49 fren gafsam 1 78 &2

(1)  STqfs

(2) ol ATl

(3) HEl

(4) VO & faerEt
Options:-

.1, Option ID :- 525,
. 2, Option ID :- 526,
. 3, Option ID :- 527,

. 4, Option ID :- 528,
Answer Given:- 3, Option ID : -527

Question ID:- 133

frfafed 5 #F-9 w97 'IER g9 F O H 9el T ¢ 2

(1) 42 Heayy feay g1

(2) 3EH Tl S § enfere e |

(3) =HH TR dEfiedl 3R Hifecd oy afeicd 1 gAH HAR <@l S Hhdl |
(4) 3 <9 vedt foman e fray e oty €

Options:-

.1, Option ID :- 529,
. 2, Option ID :- 530,
. 3, Option ID :- 531,

. 4, Option ID :- 532,
Answer Given:- 2, Option ID : -530

Question ID:- 134




T=id FUR Fi Fid ' Se-De qaa’ ©

(1) =hTA

(2) SYHH
(3) Tiifd e
(4) Tmay
Options:-

.1, Option ID :- 533,
. 2, Option ID :- 534,
. 3, Option ID :- 535,

. 4, Option ID :- 536,
Answer Given:- 2, Option ID : -534

Question ID:- 135

39T el Ygfadi <l Hil Ha

A 37k E ot T =1

Si1g & 9esl YA § 3= o q,

Tl yd M Q|

Ffgal 1 3w 379 Frefofaa § 9 feg wfa w1872
(1) Hfe=ns

(2) =M

(3) YHAR qRAl
(4) TR FHR AR
Options:-

.1, Option ID :- 537,
. 2, Option ID :- 538,
. 3, Option ID :- 539,

- 4, Option ID :- 540,
Answer Given:- 1, Option ID : -537

Question ID:- 136

‘TeESTdl g1’ Saetard e &l I o

(1) 93 1§98

(2)  THYTI T HUB
(3) A gdid

(4) HERU H GUE
Options:-

.1, Option ID :- 541,
. 2, Option ID :- 542,
. 3, Option ID :- 543,




. 4, Option ID :- 544,
Answer Given:- 2, Option ID : -542

Question ID:- 137

‘foriy & wa’ Fray o Arerm 9 ge erg fzadt 7 fefafaa 9 | #F-a1 fa=n =@ g 2

(1) &34 & HHAdl H F9H 6 0 FaaR FHi FSa ff FHfi-FHl STE 2 St 8
(2) ®SA HI HIFEd HI TGM % (AU HTER i FSRAl ST&A el ar |

(3) THHA & foT Hedar sEd

(4) HIHAA & fo SIS © HEegERn |

Options:-

.1, Option ID :- 545,
. 2, Option ID :- 546,
. 3, Option ID :- 547,

. 4, Option ID :- 548,
Answer Given:- 1, Option ID : -545

Question ID:- 138

fafafed 5 9 -9t @ gsfsd 139 789 6 7

(1) FTgeitare

(2) SRNTR i w0 el
(3) EH = fepem

(4) 9. 9% & HRAH
Options:-

.1, Option ID :- 549,
. 2, Option ID :- 550,
. 3, Option ID :- 551,

. 4, Option ID :- 552,
Answer Given:- 1, Option ID : -549

Question ID:- 139

frfafea 5 § R e Frfen qqa & 9] 5 98 78 €2

(1) e 9qa =1 579 Sfeardt 9fiar | ga |

(2) R ARf9 SiaA JHF @

(3)  enfeardt s =t fammfadi 1 aeei=a 9 SHU T

(4) Troden yger =1 sfaaetl =1 el | fe<t wuiat 1o fug 3 fen 2

Options:-

.1, Option ID :- 553,
. 2, Option ID :- 554,
. 3, Option ID :- 555,

. 4, Option ID :- 556,
Answer Given:- 2, Option ID : -554




Question ID:- 140

f=fafaa 5 ' &ie a1’ & EIFR e ?

(2) 9™
(3) fen gg
(4) T FIX
Options:-

.1, Option ID :- 557,
. 2, Option ID :- 558,
. 3, Option ID :- 559,

- 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Question ID:- 141

‘gregEr 3R o' R fam & wm e ?

(1) 3ATHFHLT

(2) HEHI-HIE

(3) HERO

(4) 394TH
Options:-

.1, Option ID :- 561,
. 2, Option ID :- 562,
. 3, Option ID :- 563,

. 4, Option ID :- 564,
Answer Given:- 4, Option ID : -564

Question ID:- 142

ffafaa 9 s w2

() “@-=" = 5% WM

(2) 9% =  IEiarE 99
(3) =M = fgq T

(4) ©AFAEE = FHHYRT GEE
Options:-

.1, Option ID :- 565,
. 2, Option ID :- 566,
. 3, Option ID :- 567,

. 4, Option ID :- 568,
Answer Given:- 4, Option ID : -568

Question ID:- 143




" FHF d Hl ! Hieswal A 91 @ "R SE A1 9 1w - e Gl § AR § 2

(1) 9o
(2) SIIAE
(3) FHH
(4) w9
Options:-

.1, Option ID :- 569,
. 2, Option ID :- 570,
. 3, Option ID :- 571,

. 4, Option ID :- 572,
Answer Given:- 3, Option ID : -571

Question ID:- 144

‘TS99 A ° @1 3491 4 98 e Alehiiad o 319 © ¢

(1) Has sl

(2) T B
(3)  hie BT

(4) HUS B
Options:-

.1, Option ID :- 573,
. 2, Option ID :- 574,
. 3, Option ID :- 575,

. 4, Option ID :- 576,
Answer Given:- 2, Option ID : -574

Question ID:- 145

frafafad § § SA-91 Fw9F JFraR! Sadl & a8 § 96l T8 © 7

(1) 9Armers wfaa e gdsf aga-a gam st 1

(2) ¢ 59, AU Ydlsh, 7¢ IUHH FHiadr & ITH F99

(3) eTcAifeh QU SUAM | off 21 I FH% WA 1 TAH FAEd Hiadi 7 T8
(4)  STUAT AH-TSrd Ffadr &1 feemr am

Options:-

.1, Option ID :- 577,
. 2, Option ID :- 578,
. 3, Option ID :- 579,

. 4, Option ID :- 580,
Answer Given:- 3, Option ID : -579

Question ID:- 146




fefafaa 5 #-91 #fa g9 9w § e 7@ 912
(1) hERATY ST

(2) O 99E 64

(3) L He

(4) THIR HeM™
Options:-

.1, Option ID :- 581,
. 2, Option ID :- 582,
. 3, Option ID :- 583,

. 4, Option ID :- 584,
Answer Given:- 1, Option ID : -581

Question ID:- 147

Freffefad § @ #-d i fewdt § onforer = &2

(1) e7a4l
(2) TS
(3) =l
(4) SAEITE!
Options:-

.1, Option ID :- 585,
. 2, Option ID :- 586,
. 3, Option ID :- 587,

. 4, Option ID :- 588,
Answer Given:- 2, Option ID : -586

Question ID:- 148
frefafaa 9 gew &1 Fife ey =@ 7
(1) M

(2) e gurm

(3) J¥he Tl

(4) fom
Options:-

.1, Option ID :- 589,
. 2, Option ID :- 590,
. 3, Option ID :- 591,

. 4, Option ID :- 592,
Answer Given:- 3, Option ID : -591

Question ID:- 149




frfafaa 9 9 $F @ SHEaR S 9RameT T8 8 9ehdl © 2
(1) THrEdeh qid 3T &l & |

(2)  Srarsii =1 S A9 Bl ¢ |

(3) YIS 1 SN SATYS Bl & |

(4) eIl 1 AU SAGSF &l 2 |

Options:-

.1, Option ID :- 593,

. 2, Option ID :- 594,

. 3, Option ID :- 595,

. 4, Option ID :- 596,
Answer Given:- 3, Option ID : -595

Question ID:- 150

SHEER F HE 98 §

(1) FFAE

(2) Tofem o

(3) TwEl e

(4) T2 9= S
Options:-

.1, Option ID :- 597,
. 2, Option ID :- 598,
. 3, Option ID :- 599,

. 4, Option ID :- 600,
Answer Given:- 4, Option ID : -600

Question ID:- 151

USRI 1 W HIIH T arell a0 el ¢
1) aE9LERdl
2) e

3) H©
)

o)

4) 9

(
Options:-

.1, Option ID :- 601,
. 2, Option ID :- 602,
. 3, Option ID :- 603,

. 4, Option ID :- 604,
Answer Given:- 4, Option ID : -604

Question ID:- 152




(1) dT=S YSRI
(2) USHrRH! TR
(3) HMHF YA
(4) TATF TARII
Options:-

.1, Option ID :- 605,
. 2, Option ID :- 606,
. 3, Option ID :- 607,

. 4, Option ID :- 608,
Answer Given:- 3, Option ID : -607

Question ID:- 153

fre=fafad g1 4 s g 2
(1) ¥4 - <Slod

(2) ‘@ - T

(3) = - Hie

7)) W = N
Options:-

.1, Option ID :- 609,
. 2, Option ID :- 610,
. 3, Option ID :- 611,

. 4, Option ID :- 612,
Answer Given:- 4, Option ID : -612

Question ID:- 154

Frefafad s 4 ga1 oiss 2
(1) &

(2) TN

(3) T

(4) FHhIN

Options:-

.1, Option ID :- 613,
. 2, Option ID :- 614,
. 3, Option ID :- 615,

. 4, Option ID :- 616,
Answer Given:- 1, Option ID : -613

Question ID:- 155




‘9% 4 SR WYL I 31 Skl &1 AY T

(1) FArad 9 &5 9 2

(2) ArEd § Af W R F TEE el
(3) FFFATER UE i Jifd 2

(4) THE 1 AUER B

Options:-

.1, Option ID :- 617,
. 2, Option ID :- 618,
. 3, Option ID :- 619,

. 4, Option ID :- 620,
Answer Given:- 2, Option ID : -618

Question ID:- 156

frafafaa wesi 5 gfg S e wes 738 ©
(1) W<

(2) @AY

(3) I

(4) YUIFRR

Options:-

.1, Option ID :- 621,
. 2, Option ID :- 622,
. 3, Option ID :- 623,

. 4, Option ID :- 624,
Answer Given:- 4, Option ID : -624

Question ID:- 157

T % SR 9 3T I ©

(1) qEuar=s g - 319!
(2) TrsEmEs e - Al
(3) HeyETEE HaAH - 3EA
(4) sffoerrEras wdam - 3RA
Options:-

.1, Option ID :- 625,
. 2, Option ID :- 626,
. 3, Option ID :- 627,

. 4, Option ID :- 628,
Answer Given:- 3, Option ID : -627

Question ID:- 158




"gqury | SR A B | ST o LEifehd 391 H UEEY @

(1) ToFan geay

(2) H 9gEH

(3) ferromr gesy

(4) Torafaeroo geay
Options:-

.1, Option ID :- 629,
. 2, Option ID :- 630,
. 3, Option ID :- 631,

. 4, Option ID :- 632,
Answer Given:- 1, Option ID : -629

Question ID:- 159

ffafed 4 agva vss 7@ © :

(1) &M
(2) i
(3) T4
(4) ©E

Options:-

.1, Option ID :- 633,
. 2, Option ID :- 634,
. 3, Option ID :- 635,

. 4, Option ID :- 636,
Answer Given:- 3, Option ID : -635

Question ID:- 160

‘ged’ 91e T YATFETHl I ©

(1) 3=t

(2) HfeH

(3) WHEER

(4) FEIE
Options:-

.1, Option ID :- 637,
. 2, Option ID :- 638,
. 3, Option ID :- 639,

. 4, Option ID :- 640,
Answer Given:- 3, Option ID : -639

Question ID:- 161




f=fafag § et v 2

(1) +EiId

(2) Ug

(3) S

(4) HAABRI
Options:-

.1, Option ID :- 641,
. 2, Option ID :- 642,
. 3, Option ID :- 643,

. 4, Option ID :- 644,
Answer Given:- 1, Option ID : -641

Question ID:- 162

f=fafad w=i 4 ‘ yraaEs 931 95 T8 € -
(1) H=mi

(2) ¥

(3) g™

(4) R
Options:-

.1, Option ID :- 645,
. 2, Option ID :- 646,
. 3, Option ID :- 647,

. 4, Option ID :- 648,
Answer Given:- 4, Option ID : -648

Question ID:- 163

Fefaiad vea] ° st e 2
OERELE

(2) 9™

(3) AU

(4) Al
Options:-

.1, Option ID :- 649,
. 2, Option ID :- 650,
. 3, Option ID :- 651,

. 4, Option ID :- 652,
Answer Given:- 2, Option ID : -650

Question ID:- 164




frfafad faemedt s 7l § s16d 2 -
(1) ATelis - YEds

(2) SHIHA - @Ed

(3) TUfgh - URdifHE

(4) 3YhK — HYh L
Options:-

.1, Option ID :- 653,
. 2, Option ID :- 654,
. 3, Option ID :- 655,

. 4, Option ID :- 656,
Answer Given:- 1, Option ID : -653

Question ID:- 165

(1) TcIed HHE

(2) FHYRET THNY
(3) AHAHE HHE H
(4) wgdlfe 9"

Options:-

.1, Option ID :- 657,
. 2, Option ID :- 658,
. 3, Option ID :- 659,

. 4, Option ID :- 660,
Answer Given:- 2, Option ID : -658

Question ID:- 166

TSR] TH & R W F=fafad 5 9 o697 779 ©

(1) <h3A = 9
(2) dmEA -
3 T - 2
(4) TH - 7
Options:-

.1, Option ID :- 661,
. 2, Option ID :- 662,
. 3, Option ID :- 663,

. 4, Option ID :- 664,
Answer Given:- 3, Option ID : -663

Question ID:- 167




frfafea sl | ad+t &t gfe @ 33 o 2

(1) fafe=
(2) AEiERE
(3) WK
(4) wafefq
Options:-

.1, Option ID :- 665,
. 2, Option ID :- 666,
. 3, Option ID :- 667,

. 4, Option ID :- 668,
Answer Given:- 4, Option ID : -668

Question ID:- 168

frefafaa wisal § 2a 958 74 © ¢
(1) HEwl

(2) AR

(3)

(4) HAMHHH

Options:-

.1, Option ID :- 669,
. 2, Option ID :- 670,
. 3, Option ID :- 671,

. 4, Option ID :- 672,
Answer Given:- 3, Option ID : -671

Question ID:- 169

'3q¥Ff%¥73ﬂﬂﬂI1$(Eﬂ?ﬁﬁﬂ1ﬁﬁﬁ?gﬂqi%:
(1) I - Afyfa

2 4 - {9 ™

3 3@ - ¥ A

4) fa - foum

Options:-

.1, Option ID :- 673,
. 2, Option ID :- 674,
. 3, Option ID :- 675,

. 4, Option ID :- 676,
Answer Given:- 3, Option ID : -675

Question ID:- 170




frafafad 5 vora =t gfie 9 siEma 99

1) ¥ - FW - IEC

(2) sem - W - THen

3 %™ - Y4 - HfH®

49 @ - < - <EHd
Options:-

.1, Option ID :- 677,
. 2, Option ID :- 678,
. 3, Option ID :- 679,

. 4, Option ID :- 680,
Answer Given:- 1, Option ID : -677

Question ID:- 171

frfafea 9 a== i gfie |4 s15m™ W T

(1) = - 9

(2) iz - ig

(3) f¥ - qferEn
(4 =% - g
Options:-

.1, Option ID :- 681,
. 2, Option ID :- 682,
. 3, Option ID :- 683,

. 4, Option ID :- 684,
Answer Given:- 4, Option ID : -684

Question ID:- 172

AT 91 3 g | 3G 9 ©
(1) 99 4 1 <F 2

(2) AUl 4 91 e @Y g |
(3) 3T 1 T B|HE T
(4) Hiar qUH @l Sl |

Options:-

.1, Option ID :- 685,
. 2, Option ID :- 686,
. 3, Option ID :- 687,

. 4, Option ID :- 688,
Answer Given:- 1, Option ID : -685

Question ID:- 173




"R Y9 He YIERHT TS 9 9 § WEifcd s

(1) faemm

(2) gfersrgm

(3) Teran-fagmm

(4) HoH
Options:-

.1, Option ID :- 689,
. 2, Option ID :- 690,
. 3, Option ID :- 691,

. 4, Option ID :- 692,
Answer Given:- 2, Option ID : -690

Question ID:- 174

‘Hied 37 9id W T el T,

HA] A= Hel T a9 9 99|’ - FeA dfdl § SeeR ©
(1) ®9=%

(2) S

(3) ¥H*

(4) S9HI

Options:-

.1, Option ID :- 693,
. 2, Option ID :- 694,
. 3, Option ID :- 695,

. 4, Option ID :- 696,
Answer Given:- 2, Option ID : -694

Question ID:- 175

=4 4 9] % A forad 997 geityq fau siH g o= ¢

(1) T

(2) TuFar
(3) ST
(4) 4EE
Options:-

.1, Option ID :- 697,
. 2, Option ID :- 698,
. 3, Option ID :- 699,

. 4, Option ID :- 700,
Answer Given:- 4, Option ID : -700

Question ID:- 176




‘g 1 TR T el e o W ©

(1) A
(2) T
(3) HYEA
(4) Hehard
Options:-

.1, Option ID :- 701,
. 2, Option ID :- 702,
. 3, Option ID :- 703,

. 4, Option ID :- 704,
Answer Given:- 1, Option ID : -701

Question ID:- 177

fa=fafaa 9 srerds o aen a &

(1) foar st en @ &

(2) T @ a9 @R

(3) faone dgm 4 @a w2
(4) WSH TR HTRIE L

Options:-

-1, Option ID :- 705,
. 2, Option ID :- 706,
. 3, Option ID :- 707,

. 4, Option ID :- 708,
Answer Given:- 1, Option ID : -705

Question ID:- 178

‘rfea 9 9N Fadl ©' - 9 38R ¢

(1) hreraras fra-faemon =
(2) TAFaETEH foha-fawram &
(3) fdqarass foran-faero =
(4) uREmETES fRa-faemm &

Options:-

.1, Option ID :- 709,
. 2, Option ID :- 710,
. 3, Option ID :- 711,

- 4, Option ID :- 712,
Answer Given:- 3, Option ID : -711

Question ID:- 179




frafafes 5 96 9= © -
(1) HidEs

(2) TICHMH

(3) Hddrd

(4) =Theie
Options:-

.1, Option ID :- 713,
. 2, Option ID :- 714,
. 3, Option ID :- 715,

. 4, Option ID :- 716,
Answer Given:- 1, Option ID : -713

Question ID:- 180

fr=fafea § armee o= ©
(1) Yidiey

(2) UHEH
(3) SHEIER
(

4) HidEg

Options:-

.1, Option ID :- 717,
. 2, Option ID :- 718,
. 3, Option ID :- 719,

. 4, Option ID :- 720,
Answer Given:- 1, Option ID : -717
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